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1. [RkECO 38| 31. |%x A7 p B (mg/L) 0.5
2. [PH & 5~10| 32. |’k 3% (mg/L) 1.0
3. |[Frit i 1| 33. = % (mg/L) 0.03
4., |* ¥ % % & (mg/L) 350| 34. |47 2.0
5. |21+ % 3% & (mg/L) 200 3b.|" &A% 0.0000002
6. ﬁgﬂwﬁ&wﬁ 200( 36. | 3.0
7. 1% % (mg/L) T0[ 37. |4F) 0.1
8. |WE®F (ng/L) 100] 38. |4 0.1
9. [# *3(mg/L) 10| 39. |48 0.6
10. |p~#8(mg/L) 1| 40. |= # % (mg/L) LR N
11. |# i # (mg/L) 1| 41. &= (mg/L) 7 EHA
12. 4% (mg/L) 0.005| 42. |[# w2 H =4 F (mg/L) LI
13. |7 #%(mg/L) 7 E A 43 FF R 2 B T4 5 (mg/L) 7 E A
14. |48 (mg/L) 0.02| 44.|FP & ~ + £ & (mg/L) ERCE
15. [4-(mg/L) 0.5 45.|7 % p= % H B (mg/L) 7 EHi
16. |%.4%(mg/L) 1.5] 46. |# #» % (mg/L) * ¥
17. | %4 (mg/L) 0.35| 47. |7 # # ¥ (mg/L) 7 EHi
18. |# (mg/L) 0. 35| 48. |4& f # (mg/L) ERCE
19. |4¥ (mg/L) 1.5| 49. [z % = (mg/L) 7 F A
20. | (mg/L) 3.5] 50.|Z ¥ = (mg/L) ERCE
21. |i% f3 48 (mg/L) 10{ 51. |2 ¢ ¢ & 400
22. |3 f314% (mg/L) 10

23. 4% (mg/L) 0.7

24. |82 0.5

TN T

25, ’(mgiwi'k F A 10

26. |7 (mg/L) 5.0

27. |#5 (mg/L) 0.35

28. % # (mg/L) 15

29.1% % = ¥ (mg/L) 0.00005

30. |45 #a® (mg/L) 0.5
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(R DBRCUEINGR) ©

Ik BRgy 2 k2 Q) xkEF F (/) xkEA &G F
2. COD &2 3 : COD T #5iE x4 -k £ Q (m') +1000 (kg/m") xCOD #

:‘%:;b/kg)

3. SS ¥ 1SS TmEx-kE Q (m') +1000(kg/m’) xSS # F
/kg)

4. % % RILT g F ToExEkE Qmd) +1, 000(kg/m3)xE
ANS < /kg)

ALY AR F ToExEkE Q(md )1, 000(kg/m3)

6.4 B2 € & HRTAER @%‘: DA AR R T 0 (AR
2 BOX(A & F F/kg) ok Fa sy ¥ lk(GEL
1)~
E’f\ﬂ‘\‘g"‘zd ﬁ]f]fv'r J\lg?ﬂﬁﬁ‘f#%t’fa;ﬂ; 7}: ]f]‘ﬁﬂf{f_}_*%""}?lwg&
f—r ’ u} EI%"T}IE» o

%\1“"'}\1@1%’* x4

7% B ®F R

kg (=~ /1) 12.38
COD (~_kg) 37. 98
SS(=~/kg) 56. 3
PH( =~ /#g) 100

%z % (~/kg) 400
A F (< /kg) 400
% B(~/kg) 1000

QI EFHE o AR EE=110(CMD/ 2*F) ©
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1 Wq=Q 1.00U0q [1= % =WagxUgxA

2 | Q<Wg=4Q | 1.25Uq [f=% =[Q+(Wg—Q)x1.25]xUgxA

=[Q+3x1. 25Q+4x1. 55Q+ (Wg—8Q)x2 ]x
UgxA

3 |4Q<Wg=8Q | 1.55Uq [4=¥ =[Q+3x1.25Q+ (Wq—4Q)x1. 55 ]xUgxA
F=

4| 8Q<ig 2 Uq |

P Wg=Rp E g ff Ak (CID/ 2 0F)
Ug="k & &4 8 i (~/n")
Q=1 F % 8 o Ak g (OMD/ 2 %)
A=Rf 2 0 R (S 2 B Bk R % B 36 H(2T)
# 3.k F A g 34 (COD. SS)

AN K B (mg/L) Al 0 IRt g A
COD. SS 4z EdxWagxAxUp/1000
1 Ed=Cp 1.00 Up E‘_éi’%”l(g—o
-y [Cp-l—(Ed Cp)x1. 32 IxWgxAx
Yz % =[Cp+0. 25Cpx1. 32+ (Ed—
3 1.25Cp<Ed=1.5Cp | 1.74 Up 1. 25Cp)x1. 74 IxWgxAx
Up/1000
Yz % =[Cp+0. 25Cpx1. 32+ 0. 25Cpx
4 1.5Cp<Ed=1.75Cp | 2.30 Up 1. 74+ (Ed—1. 5Cp)x2. 3 ]xWq
xAxUp/1000

Yo 7 =[Cp+0. 25Cpx1. 32+0. 25Cpx
1. 74+0. 25Cpx2. 30 + (Ed—
1. 75Cp)x3. 03 IxWgxAx
Up/1000

9) 1. 75Cp<Ed=2Cp 3.03 Up

Yo7 =[Cp+0. 25Cpx1. 32+0. 25Cpx
1. 74+0. 25Cpx2. 30+0. 25Cp
x3. 03+ (Ed—2Cp)x4 |xWgxAx
Up/1000

6 2Cp<Ed 4.00 Up

i Wog=r 7 5 oo ff AR 8 (CMD/ 2 8)
A=RF 2o fF(2F)
Ed=3%78 73 % 4 B 7 # 32 -k F (mg/L)
Cp=3%3E 73 2 4 2 &Rk & "LiE(mg/L)
Up=%%7 75 442 3 H % (~/kg)
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1 CpL=pH=CpH 0Up Yo7 =0
4.0=pH<CpL 1Up "
s — *U

2 | CpH<pH=110 1Up te 7 =Qwrlp

H<4.0 50
] D D g =Quk Up%s

pH>11 5Up

CpH=:& &+ *T ~ Up=100 ~/m®

L5 RFABYFA(EF)

iQw= 2 B A SRR EM)

i i% PN & KR BT B B o R

1 NH3_N <30 0. 2Up o3 kL RS R S

2 | 30<NH3N=T0 | 1.0Up Pk R g5 /1000

3 TO<KNH3_N=100 1.5Up Pk R L TOmg/L(E & 4 E55 0k
100mg/L) L& b > S fm e L i

4 |100QH3N=150|  2.00p |, ;& i Ln %;i ey
Pk B £ T0mg/LCE ¥ 4 #75-k

5 150<NH3_N 4.0U0p  |100mg/L) 'R g1t + » S Fjm e L ik

FRALE - Le ByHr TEG 3§

Up=400 ~ /kg.

2B RFAETFLA(HERAT)

i Quw=" 2 By AR kg (n®)

Al AR PN RF A BT o N
O'IUD &= L% o NV 1
1 NO3_N<50 o 7 =Qwkt 2k R xa B g 5 /1000
0.2Up | 3¢ P32k %3 1500CMD > NO3_N=
, B A& Y
2 | 50NO3N=100 | 1.0Up 50 - § 4 & 0.1UP
3 | 100<NO3_N=<150 | 1.50p |[#**=ikA < 100mg/L i@ rst - 5
mecd B R ey - e BypT
4| 150N03N=200 | 2.0Up | rygy s,
) 200<NO3_N 4.00p  |#kA <> 100mg/L * L@ b o g
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I iQw=" 2 B ¥ N iE Ak E (n?)

Up=400 ~/kg
2T kR Fi(RR.E£4)
A k% (mg/L) stk SR WA SN S
1 Ed=Cp 1Up |3 =0
o 7 =[Cp+ (Ed—Cp)x1. 32 JxWaxAx
<
2 1.2Cp<Ed=1.5Cp 1.32 Up Up/1000
fe 7 =[Cp+0. 25Cpx1. 32+ (Ed—
<
3 | 1.oCp<Bd=1.75Cp | 1.74 Tp 1. 25Cp)x1. 74 ]xWaxAxUp/1000
fo 7 =[Cp+0. 25Cpx1. 32+ 0. 25Cpx
4 1. 75Cp<Ed=2Cp 2.30 Up 1. 74+ (Ed—1. 5Cp)x2. 3 IxWgxAx
Up/1000
Yo7 =[Cp+0. 25Cpx1. 32+ 0. 25Cpx
9} 2Cp<Ed=3Cp 3.03 Up 1. 74+0. 25Cpx2. 30+ (Ed—
1. 75Cp)x3. 03 IxWaxAxUp/1000
v]&:'}i’f =[Cp+0. 25Cpx1. 324 0. 25Cpx
1.7440. 25Cpx2. 30+ 0. 25Cpx
6 3Cp<Ed 200 Up 3. 03+ (Ed — 2Cp)x5 JxWaxAx
Up/1000
T Wq= R B e g Ak R (OID/ 2 %)
A= f{ﬁﬁ 1o ﬁi( ‘B )
Ed=3%70 73 % 4 R #2% 2 -k F (mg/L)
Cp=71%78 3 44 2. &k & *2iE (mg/L)
Up=3%38 75 44 2 4 ¥ B § (~/kg)
%28 4 ML ALERFAFEY
PREE | kAR R F SRy EHEE A~y E i (Up)
TaEED |((~/F%%E) (g/75%% &) (~/kg)
N 20 39500
& 100 7900
WA 200 500 1580
2 i 4 1000 790
b 1000 790
&4 1000 790




Eid 1000 790
Gai 500 1580
B fEAB 1000 790
& 500 1580
1 100 7900
» 2 1000
X
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